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FIND THE BEST TRANSLATION FOR THESE PHRASES AND SENTENCES.

-V “...It's just luck our being asked at all.”
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2-We had it until we were sick of it.
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3-Tom has travelled to many lands.
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4-1f only Margaret had married Tony.
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5-The jewels showed no signs of having been touched.
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6-Bob worked so hard that he was always tired.
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7-Jackson hurt himself while fixing the door of the garage.
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8-Having being frightened by the bomb explosion, Victor ran away.
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9-He is thought to have been waiting for a message from his mother.
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10-Having opened the door, Mr. Smith switched the lights.
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11-Which one is a plural noun with a plural equivalence in Persian?

1. mathematics 2. baggage 3. compasses 4. indices

12-Which one is correct?
1. A loaf of meat 2. five tubes of toothpaste

3. three slices of soap 4. two bits of chalk

13-1dentify the place of the complement of a subject and its reference?
1. After the verb/subject 2. after the noun/object

3. before the noun /subject 4. before the verb/object

14-Which of the following nouns is female in English?
1. captain 2. heir 3. ship 4. soldier

15-Look at this sentence and its corresponding translation and identify the correct choice about it:
“The earth orbits around the sun and receive his light and warmth.”
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1. Sun is male in English and in Persian is considered as a male noun, too.
2. Sun is male in English but this characteristic is untranslatable in Persian.
3. The translator should reflect this characteristic anyway in Persian to be acceptable.

4. This sentence is untranslatable because of cultural and sensual meaning of sun.

16-Which one is an example of Acronym?
1. cdr 2. NATO 3. BBC 4. Eng

17-1In this sentence: “it is expensive to live in a large house.”, identify the real subject.
19t 2. it is expensive

3. alarge house 4. to live in a large house
8
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Sl e couh oS ks o 5 aS ol aols 1A
The weather is_piercing cold.”
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19-What'’s the grammatical function of the underlined part?
“To be honest, | don’t like our boss.”
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20-Identify the type of this sentence.
“Sarah had such a low grade that she hid her exam paper.”

1. B (508 9,0 alex 2'4*4564153)1-.3.“1-0-?
8- by ad gy alex A ants sud gy dle
21-“If only he didn’t leave here.” We use if only to express.........cccvveveneene
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22-The combination of if + should in conditional sentences, type | is used to:
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23-ldentify the type of adverb in this sentence:
“The flower is extremely beautiful.”
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24-1dentify the kind of subject in the following sentence:
“Where Edward works is too small.”
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25-What'’s the most appropriate translation for this phrase?

"he has placed his throne upon the waters."

1. Sl 00 u)..\ﬁj.b.l.m.vdbb &9

3' QLQAB‘QLWUT).")UAJ.C

26-God has made the firmament to revolve.
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he has given movement .Y

he has given nuiform repose - ¥

28-" 1 am no long for this world"

T ol Lo pl & ol

B oles (3L e 5l 0l me

29-Curled once about the house,
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30-The leter was written before me.
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he has given dominion .\

he made it frozen .Y
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